First Names

Dakota

Gabrielle

Simon

earrings

Accessories

hat
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Cocktails

2 min, 59 sec

3 min, 2 sec

3 min, 5 sec

3 min, 8 sec

bloody marys

daiquiris

Cocktails

margaritas

pink squirrels

Accessories

Logic Puzzles

Presented by Puzzle Baron

Puzzle ID: B557JL

For hints, solutions and more puzzles, go to

www.Printable-Puzzles.com!

earrings
hat Times First Names Accessories Cocktails
2 min, 59 sec
purse ]
3 min, 2 sec
scarf 3 min, 5 sec
3 min, 8 sec
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. The person who drinks pink squirrels bought the hat.

. The person who bought the purse is not Simon.

. The person who drinks bloody marys finished after the person who drinks margaritas.

4. The runner who finished with a time of 2 min, 59 sec is not Gabrielle and doesn't drink daiquiris.

5. The runner who finished with a time of 3 min, 5 sec didn't buy the hat.
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7. The person who bought the earrings doesn't drink bloody marys or margaritas.

8. The person who bought the purse finished before Bethany.

9. The runner who finished with a time of 3 min, 2 sec bought the purse.

. Of Bethany and Simon, one bought the scarf and the other completed the race at 3 min, 5 sec.

10. Either the runner who finished with a time of 3 min, 2 sec or the runner who finished with a time of 3 min, 5 sec

drinks margaritas.

11. The person who bought the hat is not Gabrielle or Simon.

12. The person who drinks daiquiris is not Bethany.
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